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Topic:- Child Development & Pedagogy (CDP)

1) are the self-fulfillment needs according to Maslow’s Hierarchy of needs. / ATFAY &T
WO T JeighA & AR ¥a-gfd #r sraeIwan g

1. Self-actualization / 3TcaH-faeyoT

2. Physiological needs / fohaTcdd 3TaRIHT
3. Belongingness and love needs / [0 3R IR fr 3maegedr

4. Esteem needs / 981 gToIU

Correct Answer :-

« Self-actualization / 3TcH-TaWoT

2) What part of the personality operates on'the pleasure’principle according to Freud? /

TS & TR, 37Teiq FAGie 9Y A ccd 1 S isT HI 1T AN SleT 6?
1. Ego ideal / 31 3ex (37 eMsSa)

2. Superego / UXTE (ZUIZaM)

3.1d/ Ut (3T$EN)

4. Ego / 37 (39M)

Correct Answer :-

. 1d/ UgaTd (3ME3N)

3) What is the time in a child’s life between childhood and adulthood known as? / STeaTad€dT
IR TIATF AT F T v T F SAaT A ST ATFAT 2T 82

1. Adolescence / ToRQNTaE2T
2. Menarche / To1EQ1eT

3. Middle childhood / ACT dTeATdEA]


Lenovo
Stamp

Lenovo
Stamp


4. Puberty / TiaeT

Correct Answer :-

« Adolescence / ThNRTaEAT

4) What is the term given to describe the sudden ‘aha!” moment that sometimes helps us solve

problems? / 3TETeA “37gT!” &T0T &1 JUTeT FIA & faT HieT AT ug T a13am &, A wsfi-sih g
AT P T FI H A FIATS?

1. Flashbulb / Wel2r TTea
2. Insight / 3def®

3. Observation / delldhel
4. Deduction / TROTH

Correct Answer :-

 Insight/ 3idae®

5) What is the term given to denote the ability of a test to consistently measure what it is

designed to measure? / fFHY TE&TOT Y 87T F ARG FY & fow Sl ar ug @ g, &/
ITETT § A & fow 5@ RBemse frar e

1. Norms / #ATAES
2. Reliability / fa#r@erardr
3. Reasoning / I
4. Validity / &ar

Correct Answer :-

. Reliability / faaraezrar

6) Benefits of Inclusive Education are: / ATIAY fALT & 1T &

1. Develops moral and ethical principles only / dhael Afas 3R Afaare Rgia fasfaa s
2. Increases communication and social skills only / &hael FUR 3 ATATTSTD DITST TSTAT

3. Increases acceptance and appreciation of diversity only / ehdel TATIerdT &hr Q:Eil?f»ia 3R werEr
BEGI



4. All of the above / Iuad T+t

Correct Answer :-

« All of the above / Iudad T+t

7) The urge to provide care and protection to offspring is motive. / ATl T S@HT 3T
F&TT YETeT FT1 T AT FfAIoOT B
1. Sex / T

2. Maternal motive / HTc] IEE LRI
3. Achievement / 3UcIeY

4. Affiliation / TG

Correct Answer :-

« Maternal motive / HT JTHUIOM

8) Which of Erikson’s stages of psychosocial development results in the virtue of competence? /

TREFH F AAEEISE RE & Fia & wvor 7 afaafErar smaen s i 82
1. Trust vs. mistrust / TI4TA g=I181 3ifaama

2. Intimacy vs. isolation / ST AT 3TeloNd

3. Ego integrity vs. despair / 3T& 3T@3dT dATH TR1T

4. Industry vs. inferiority / GRS TATH AT

Correct Answer :-

o Industry vs. inferiority / TR TATH St

9) Which of the following strategies cannot be used by a teacher for a mentally retarded
learner? / T84T @RI ATARA® &7 / #Hg et (aeiv) & v fmafaf@a # @ Fra s-fAfa =
I AT RRAT SIT HehaT 82

1. Breaking smaller tasks into large steps. / B Hie HAf A E@ B | fyuIfordg s

2. Presenting the information to learner using visual aids. / TU TSY &Il I B Rremeff (?FTT) CARSIEEAR] Udd
DA

3. Involving the learner in group activities. / THg Tfafaferay & fRremeff (FFF\’) B A BT



4. Providing the learner with immediate feedback. / Rremeff (FFTT) P dBTd Ulehdr Te &A1

Correct Answer :-

« Breaking smaller tasks into large steps. / DI HieT B q g8 SR H faUTTa B

10) According to Good and Power, which category of students are more likely to engage in outbound
activities? / 3eo1$ 3R T F ITAR, BET i Fw Aot F r3cass ARt & Fava o= i A=
HHTGT &2

1. Social / HTHATTSID
2. Phantom / W%hed
3. Successful / H%beldl

4. Dependent / TR

Correct Answer :-

* Social / HHTSH
11) Specialized teaching strategy geared toward supporting student’s learning is ./ B & drEs
&1 ST I & fav AR fAftse Ramor wEife gl

1. Writing / ol@dl
2. Scaffolding / EhwifesT
3. Reading / UTo

4. Brainstorming / faaR-HUA

Correct Answer :-

o Scaffolding / FhwhIfesT

12) Which of the following is not one of the main method of deriving traits? / fAF=ifaf@a & & a1 waor
yrcd #A 1 AT A ¥ F vF A 92

1. Hypothetical / HTcFheUddlcHh
2. Lexical / Qmfegen

3. Statistical / HITEIH

4. Theoretical / Hgifd®

Correct Answer :-



» Hypothetical / UTeFeheUdTcHD

13) Which of the following is true about modern evaluation? / 3T4fa® Hediwa F I # farafaf@a &
¥ Fi ar wd 7?2

1. Summative evaluation / TR HelAThe

2. Continuous evaluation / Hdd HedThe

3. Product orientation / 3¢UTG SegEIh]

4, Rote learning / YT HIEAT

Correct Answer :-
« Continuous evaluation / Hdd Hedlhed

14) Which among the following is NOT the focus in planning and delivering a developmental,
comprehensive guidance and counseling program? / AFafaf@a & ¥ Fa1 e, sag*w AFgdT 3k
WA FEFA H Aot 9= JR Aalka & § caw Fa 78 a2

1. Financial / faer

2. Personal / < ThaTd

3. Social / AT

4. Academic & career / A&TOThRAT R HRIT

Correct Answer :-

o Financial / T

15) Who elaborated an enormously complex notion of natural development under a thinly disguised

divinity? / fFEer SR ¥ Teoed Reaar & dgd wipfas e @1 vF qaF S aron
faeqa fFar?
1. Baldwin / STes e

2. Erikson / 3Reqa1
3. Piaget / fUara
4. Vygotsky/ﬂl%allclzaﬁl

Correct Answer :-

« Baldwin / gTeafa



16) The value of standard deviation in the ‘Deviation IQ distribution’ is: / ‘fa=rerer 3-11?3'1{\ fravor &
AAF AT FTA§:

1.1
2. 15
3.10

4.0

Correct Answer :-

o 15

17) The environment in which children grow up will how they think and what they think
about. / T IRAY H T= a3 g\ & @ AT ¢ F ag F¥ Wgar § 3R ag ¥4
qraar §1

1. maintain / STAREAT
2. weaken and disturb / FHSAR 3T LA
3. scare / STl

4. influence / WHTfAd

Correct Answer :-

« influence / UHIfad

18) Gender division is defined as . | T AT Y & ¥ & gRenRa far
TATRI

1. Division between male employees and female employees. /W&Tﬁm?ﬁaﬁﬂliiqi o 3
TSI |

2. Biological differences between males and females. /Wﬁhﬂi%ﬂl}ﬁaﬁﬁﬂﬁﬁiﬁml

3. Male to female ratio. /Wﬁmﬁwml

4. The hierarchal roles of males and females within society. / TATS & 3fdifd gesi iR Hfgarst &t
UGTshH  Y{HBI3 |

Correct Answer :-

« The hierarchal roles of males and females within society. / THTS & 3faifd go®l iR Afgarsii &
UaTgehH a3 |



19) What is teaching through deductive method? / faarster fafer garr fvator &= &
1. From macro to micro / A A II'IEﬁ ddh

2. From general to specific / ITHI Y fafery a&
3. From specific to general / Tafrs & @me=g d&
4. From easy to difficult / 3T & Hid dh

Correct Answer :-

« From general to specific / TH ¥ a1y d&

20) Students don’t want to learn new concepts whichare__ . / Qﬁ faemaff =it - gid % a
T8 YRUNS &) W= T8 Ared 7 |

1. Ambiguous / TigTardeh
2. Intelligible / gigarmar

3. High quality / CESSEY

4. Plausible / &Yeh-T0g

Correct Answer :-

« Ambiguous / HieIards

21) Which of the following statements is NOT true? / Ffafafed sy A A P AT I T{ﬂ%‘-’

1. Some diseases and disorders are a product of inheritance. / & o7 3R AR d’?ﬂﬂ'ﬂﬂ' @ﬁ %I

2. Enriched environment enhances child’s development. / € dTdTeR0T god & fIhA I IoTdT Bl

3. All genetic disorders can be prevented by taking proper measures. / 3fad 3UTT &l TH 3-]'@3‘@35
PR P Nepr ST FhaT T

4. Children are able to learn more finite skills through play. / ST Wel & HTCIH & HAd TRIAT Pierer
dreay 3 e 8

Correct Answer :-

« All genetic disorders can be prevented by taking proper measures. / 3/0d 3UTd &lch THT 3-]1@?'@?5
ARt & AT ST ThaT Bl

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? /

R & waerens e & Rquia &, 77 afrarens saear &1 aaa #7341 872
1. Operational thought / HfhaTcA® foar



2. Abstract concepts / 3Hd FTUROT
3. Object permanence / a&q TEARAT
4. Symbolic thought / UcehlcH® TaTR

Correct Answer :-

« Operational thought / HfhdTcA® AR

23) Which of the following is not a concept related to classical conditioning? / fA=faf@d H A sl @@t
Fenfadhr FeSrrfAeT (Reufafsa wges) & Fafta srauron 78 &2

1. Neutral stimulus / dCET 3%1Udh

2. Conditioned response / 31“@’3’@?[ 3@@‘7&1

3. Shaping / fa%qoT (AfTT)

4, Stimulus generalization / 3%8IUch HTHATIIHIOT

Correct Answer :-

e Shaping / aeuur (AftT)

24) Each child is unique. This statement refers to the prifciple of: / Y& g=I1 3ifgdIu 81 U8
Y & Rirgia o1 defifa v 2

1. Continuity / fARaRdr

2. Uniform Pattern / Teh&UAT

3. Integration / ThITcHBAT

4. Individual Differences / CRIGEREGaGI

Correct Answer :-

o Individual Differences / dfehed fReaaar

25) Similar attributes are combined together by the child to form ./ & fRwfor &
I gRI U 1Y A faRivarsi &1 fBrares s man «mar @

1. Concepts / TR0

2. Letters / 378X

3. Words / e

4. Judgments / 3T AT



Correct Answer :-

o Concepts / TdIRUT

26) Children gain a good understanding of scientific reasoning and practice because of

pedagogical approaches that focus on: / ﬁ&lﬁﬁﬁ RHIU A frg R oH dad s A 5=
AP dF 3R T B ST JHET BRI B &8:

1. Writing skills / @l el
2. Scientific ideas / d<faed fa=IR
3. Communication / I

4. Student activity / faameff Clz[ﬁf

Correct Answer :-

o Scientific ideas / d<ifaep AR

27) Inclusive education is a new towards educating the children with disabilities. /

Taaf g, Rarit =t &) Rifa@ S B =204 TP T4 2
1. Demand / 1T

2. Approach / 3UTITH (TR0

3. Direction / fac2r (f&em)

4. Process / Ufdhdr

Correct Answer :-

« Approach / 3UTITSH (FT¥HION)

28) Ignoring of the learning- readiness would result in ./ 3MRATH - TaRdr 31 Iue
__ FdrwuRom &

1. Development / IGEAR

2. Maturation / TRUFadT

3. Improvement / YR

4. Frustration / faram

Correct Answer :-

« Frustration / A1



29) Self-evaluation by a teacher shows his role as a . | T e grR1 Wqh-gedip Iq@t

_ e ercuiargl

1. Classroom researcher / & Tnemeff
2. Reflective practitioner / faaR=ia gfite (Rudifaea dfdewmR)

3. Co- learner / Tg-fAemdt (aeR)
4. Facilitator / UfR1efe

Correct Answer :-

« Reflective practitioner / faaRzfid qi%m (ﬁ'lﬁﬁ"q' m)
30) What does the term ‘Dyslexia’ denote? / fewifeRTar TUoq f5a fA=fua sxar %?
1. Difficulty in taking notes. / AICH ol H dehclIth|

2. Learning difficulty that can cause problems with reading, writing and spelling. / @@ &7 Hf&aS M
uee, former 3R adell 3 gaear dar Y ahdl

3. Learning difficulty with number processing and calculation. / T&AT THITHLL] 3R 90T & @y @
H BfATS|
4. Specific handwriting disability. / Ay forgrae feeaman |

Correct Answer :-

+ Learning difficulty that can cause problems with reading, writing and spelling. / r@a &1 Eﬁi%ﬂlé S
ued, for@a 3R adet d Faear dar X Fad §

Topic:- General Hindi (L1GH)

1) RME FHM ¥, ford §T #) Hoxd B A1 BT AT ST SAIGT &7 4TI FAT HeThid gIHR (oraet &1a Sa1 9
4 0 adf gd 7) F weTeTed sferrs” aUT Sl IR MHaral #1 fidl-R-Re B bow A1 A I
TETHT B $d Fae AR §9R UfHal & | $© TRN al FOA AR[AT 916 B gHhd A

YRd & TSI T H3 UTITE Sielt et @t ¢ fbg R T 8 6pd ST WaRT IR YR | g7 4T YRd & $H-
aﬁlﬁgﬁﬁﬁ%ﬁmﬁﬁﬂm%ﬁﬁWWWWW| WA R BT o= aur fage gr-
= @ Har

fewTerg udd 3R MER-TTEY AR B UR S WRA &t HEI11 BT USR ‘SU-ARTATR, "=’ R W1,
-G & TP uga|

IUYT TR Bl UGHR A I 7Y U HT 3% 9d13¢ ¢

U "SR’ BT AT 8?2

1. I1¢, Y ofdr



2.3 BT YA o LA
3.3 Bl A% LAl

4. {eT ST

Correct Answer :-

o TG P oAl

2) M FUM H, ford g B $oI B A BT AR BT SF1G1 &7 4TI T TgTHhid iR (Rraet wra sar
= 9t af gd B) & HeTeT Shrrs’ aun St IR MaTel B fidt-ax-ddl B Fow A1 3 G
HETHT B $d e AR s9R UfHal 8| $© TIRN al 38Y TR[AT 916 B GHhd A

YRA ® FeT A HF YTUTT Siell Selt 81 € forg R FHM A TP T WART IR YR | 8T 4Tl HRd & Hi-
aﬁlﬁgﬁhﬁ?gﬂﬁmﬁ%ﬁm%ﬁﬁWWWWW| WA R BT o= auT fage gr-
= @ Par

fewTerg udd 3R MER-TTEY AR B UR S WRA &t HEI11 BT HSR ‘SU-ARTATR, "=’ R W1,
- &M q gl

ST TR B! UGHR A I 7Y U HT 3% 9d13¢ ¢

WH: HRAIG Aifged &1 HUSR fagrl = f5g yto & Sifed wR1?

1. §Epd
2. &Y
3. UTell

4, A

Correct Answer :-

3) WM FUME ¥, frd §T Bt HowI B A1 BT AR BT SAHRAT &7 ATI FAT HeTHid 18R (RRI®T1 Fra s |
0 o gd 7) & WereTed sferas” aUT ‘NSl IR MHaral #1 fidl-R-Aet B bowy A1 3T I
HETHTl # $ot faTey gy guR UfRTal &1 $© IR d 397 IHHT 918 HR A5 U

YRA # 9T A HF YTITE diell St 6T € foreg R FHM A Tpd T WART IR YR | 81T YTl HRd & H1-
ﬁlﬁgﬁﬁﬁ%ﬁmﬁ%ﬁm%ﬁﬁWWWWW| U YR T =4 a1 fagm @=-
= TP Hal

fewTera uda ofik MER-TTEY ANRY 1 UR b WRA B Hel-dl HT SR ‘SU-ARAANR, "Tada 3R wae,
-G o 7 yg

ST TR F UGH -1 T T Y= T IR ga15¢ :

U URA H fat uTaTg sielt oIt g2

1. Th



2.ar

3. U

4, 39®

Correct Answer :-

4) M FHM ¥, o1 §T B SR B A BT AR BT AT T AT | AT WgTHia g (ForasT ora sa1 9
9t af gd ?) & HeTeTe Shrms’ AU St IR MaTel 3 fidt-ax-ddl B Fow A1 3T G
UETHT B $d e AR s9R UfHRial 8| $© TIRN al 38Y TR[AT 916 B GHhd A

YRT # FeT A HF YTUTT Sieil STelt 8T € forg R FHM A TP BT WART IR YR | 8T 4Tl HRd & Hi-
aﬁlﬁgﬁhﬁ?gﬂﬁmﬁﬁﬁm%ﬁﬁWWWWW| WA R BT o= auT fage gr-
= @ Par

fewTera uda ok TER-TTEY ARRY 1 UR BT WRA B Hel-1al $T SR 'SU-ARAANR, "Tada 3R wae,
- =M 7 vgn

IUYT TR B! UGHR A I 7Y U HT 3% 9d13¢ ¢

UH: R FHM § YRd H 5T U ST TN BT 41?2

1. §Epd
2. &
3. 3R

4.7 § PIs Al

Correct Answer :-

5) R FUM ¥, fRE §T Bt HowI B A1 BT AR BT SAHRAT 7T ATI FAT HeTHd 18R (RRI®T1 Fra s 1
0 o gd 7) & WereTed sferas” aUT Sl IR MHaral 1 fidl-R-AEt B bowy A1 3T I
HETHTl H $ot faTey gy guR UfRTal &1 $© IR d 39) 9HHT 918 H A5 U

YRA # 9T A HF YTTE diell St 61 € foreg R FHM A Tpd BT WART IR YR | ST YTl HRd & H1-
ﬁlﬁgﬁﬁﬁ%ﬁmﬁ%ﬁm%ﬁﬁWWWWW| U YR T =14 a1 fag @=-
= aP el

fewTera uda ofik MER-TTEY ANRY 1 UR b WRA B Hel-1dl HT SR ‘SYU-ARAANR, "Tada 3R wae,
-G o T ug|

ST RIS $I UGH -1 T T Y= T IR ga15¢ :

UR: YRd Pt B Tt B T UUSR gR-gR I b Ugan?

1. pael SITdP



2. hadd HFAT-GRAGER
3. hael UIdT
4, 3Uqh gAY

Correct Answer :-

o WP T

6) WM UM H, ford §T ot HowI B A1 BT AN BT SARAT 7T 4TI FAT HeTHd IR (I Fra S d
9t af gd B) & HeTeT Shrms’ AU St IR MaTel $ fidt-ax-ddl B Fow A1 3 G
TETHT B $d e AR s9R UfHial 8| $© TIRN a1 38A TR[AT 916 B GHhd A

YRT ® FeT A HF YTUTT Siell Selt 8 € forg R FHM A TP BT WART IR YR | 8T 4Tl HRd & HiH-
aﬁlﬁgﬁhﬁ?gﬂﬁmﬁ%ﬁm%ﬁﬁWWWWW| WA R BT o= auT fage gr-
= @ Par

fRuTera udd 3R MER-TTE UNRI $l UR P URA BI HEIAl BT HSR ‘SU-TRTEANRY, ‘T 3R ‘W,
-G 3 T ugen|

ITYe TN H! TSP e I Y Y= BT ITR §d15¢ :

T ‘sioras’ SR SiEt HeTeTa § $a fieres feat dfdar 82

1. 38,000

2. 18,000

3. 28,000

4. 27,000

Correct Answer :-

7) WH FUMH ¥, frE §T B HowI B A1 BT AR BT SARAT &7 AT FAT HeThid g8 (RRI®T1 o1 s 1
0 o gd 8) & WereTed sferas’ aUT NS IR MHaral 1 fidl-R-Aét B bowy A1 A I
HETHTl H $ot ey gy guR UfRTal &1 $© IR d 38) IHHT 918 HR A5 U

YRA # 9T V HF YTTE diell Set 61 € foreg R FHM A Ipd T WART IR YR | 81T YTl HRd & H1-
aﬁlﬁgﬁﬁﬁ%ﬁmﬁ%ﬁm%aﬁﬁﬁWWWWW| U YR T 4 a1 fag @=-
= aP el

fewTera uda ofik TER-TTEY ANRY 1 UR b WRA B Hel-dl HT SR ‘SYU-ARAANR, "Tada 3R wae,
-G 3 7 ug|

ST TR F UGH -1 T T Y= T IR ga15¢ :

WA "Ugas’ W P9 91 U 32

1. fg91 qaTE



2. 66 AT
3. 3TAHTT FATH
4, FAURT AT

Correct Answer :-

8) WM FHM ¥, fora §T B $o®I B A BT ANN BT AT T UT| AT WETHia g (Foras1 ora sa1 9
9t af gd ?) & HeTeTe Shrms’ AU St IR MaTel 3 fidt-ax-ddl B Fow A1 3T G
UETHT B $d e AR s9R UfHRial 8| $© TIRN al 38Y TR[AT 916 B GHhd A

YRT # FeT A HF YTUTT Sieil STelt 8T € forg R FHM A TP BT WART IR YR | 8T 4Tl HRd & Hi-
aﬁlﬁgﬁhﬁ?gﬂﬁmﬁ%ﬁm%ﬁﬁWWWWW| WA R BT o= auT fage gr-
= @ Par

fewTerg udd 3R MER-TTEY AR B UR S WRA &t HI11 BT HSR ‘SU-ARTANR, "=’ R W1,
- & 9 g

IUYT TR B! UGHR A I 7Y U HT 3% 9d13¢ ¢

;NS fpad gR1 IRT Uw HeTHTH 72

1. sferae
2. Pl

3. BT
4. =8

Correct Answer :-

9) RN THM ¥, o1 §T B o B A BT AR BT AT T AT| AT HETHid grR (a1 o1a sa1 9
0 o gd 8) & WereTed sferas’ aUT NS IR MHaral 1 fidl-R-Aét B bowy A1 A I
HETHTl H $ot ey gy guR UfRTal &1 $© IR d 38) IHHT 918 HR A5 U

YRA # 9T V HF YTTE diell Set 61 € foreg R FHM A Ipd T WART IR YR | 81T YTl HRd & H1-
aﬁlﬁgﬁﬁﬁ%ﬁmﬁ%ﬁm%aﬁﬁﬁWWWWW| U YR T 4 a1 fag @=-
= aP el

fewTera uda ofik TER-TTEY ANRY 1 UR b WRA B Hel-dl HT SR ‘SYU-ARAANR, "Tada 3R wae,
TR = 7% v

ST TR F UGH -1 T T Y= T IR ga15¢ :

UST: B B A2

1. HATBR



2. A<gIqh

3. AR
4. 31T FAar

Correct Answer :-

10) RTH FHM #, foRd T &1 Fod H A1 BT AN BT SFIRAT &7 4TI FAT! HgThd giaR (e &1a g4
| 7t & 9 gd %) F e ShRras aur SR IRaw THaTal B fidl-aR-0id B Fow A1 37 aAl
HeTHT) & Pl FIATP? SIS SR Ufaal 8| $© TRUT af S TRAT U1 X TP A

YRA # FeT A HF YTUTT Siell Selt 8T € forg M FHM A TP T WART IR YR | 8T 4Tl HRd & Hi-
aﬁlﬁgﬁhﬁ?gﬂﬁmﬁﬁﬁm%ﬁﬁWWWWW| WA R BT o= auT fage gr-
1y @ Har

fRaTer udd 3R MER-TTER ATRI I UR TR YR $I HEIa1 $T HSR ‘SUT-ARAENR’, ‘Tada’ 3R |aw’,
-G < 9 ug|

ITYE TN H! TSP e U 7Y Y9 BT IR Ja15¢ :

U: FIR &1 TEIHT 872

1. sfora

2. 3fars

3. 3EY

4.F TS F

Correct Answer :-

11) A A #H, A T &1 FoI T A1 BT A BT SFRAT &7 411 FATT HgToid giax (et ora g4
ﬁﬁﬁﬁqﬁ%)%m ‘sheras’ aur SR IRaR THaTal B fidl-ar-fid B ot A1 37 ST
HEThT # ol faTey gy guR UfRaal & | $© IR 3) AT a16 Y JHd U

YRA # 9T V HF YTTE diell Set 61 € foreg R FHM A Ipd T WART IR YR | 81T YTl HRd & H1-
ﬁﬁlﬁhﬁm’fﬁ%ﬁmﬁﬁm F 9 § YR TR BT HSR HRT| U WR $1 g2 qut g @=-
= aP el

fenTerg yda Sk MER-T18Y INR] B UR BXP HRA D! PEIAYI BT HSR ‘SY-ARGINR’, "Tadd’ 3R ‘Sae’,
R-GX & T g

ST TR F UGH -1 T T Y= T IR ga15¢ :
U ‘HETHTH’ g § P A JHAN 82

1R



2.5

3. dcgey
4. FAURT

Correct Answer :-

12) R UM #, I §T B $oI HR A7 ST A BT ARAT 71 AT| AT HgThia graR (ot ora gan
| 7t & 9 gd ¥) F e ShRras aur SRt IRaw THaTal Bt fidl-aR-0id B Fow A1 37 aAf
HeTHT) & Pl FIaTP? SIS SR Ufaal 8| $© TRUN af S TRMAT U1 X 99 A

YRT # FeT A HF YTUTT Siell Selt 8 € forg R FHM A TP BT WART IR YR | 8T 4Tl HRd & HiH-
aﬁlﬁgﬁhﬁ?gﬂﬁmﬁﬁﬁm%ﬁﬁWWWWW| WA R BT o= auT fage gr-
1y @ Par

fenTerg udd 3R MER-TTEY AR B UR S WRA &t HI11 BT HSR ‘SU-ARTATR, "=’ R W1,
- & 9% gl

IUYT TR B UGHR 14 T 7T U $T Ik 94130 ¢

U= “3AIET Xeg BT HHHTAT XMeg T 32

1. hdel eIl

2. el IUA
3. hael foRrem

4. 3Uh G

Correct Answer :-

o WP T

13) A A #H, fRd T &1 Fod T A1 BT A BT SFRAT &7 AT1 FATT HgThid giax (et ora $ar
ﬁﬁﬁﬁqﬁ%)%m ‘sheras’ aur S IRaR THaTal B fidl-ar-fid B o= A1 37 ST
HEThT # ol faTey gy guR UfeTal & | $9 IR0 3) AT a16 Y JHd U

YRA # 9T V HF YTTE diell Set 61 € foreg R FHM A Ipd T WART IR YR | 81T YTl HRd & H1-
ﬁﬁlﬁhﬁm’fﬁ%ﬁmﬁﬁm F 9 § YR TR BT HSR HRT| U WR $1 g2 qut g @=-
= aP el

fenTerg yda Sk MER-T18Y INR] B UR BXP HRA D! PEIAYI BT HSR ‘SY-ARGINR’, "Tadd’ 3R ‘Sae’,
R-GX & T g

ST TR FI UGH - T T Y= $HT &K qa1s :
U=: fag Xreg BT AT Ieg T ERT?
1. fargrlr



2. Ty
3. faopRY

4. fagh

Correct Answer :-

14) M T #, MY §T B FoI HR A7 BT AN BT ARAT 71 A1 AT HgThia g (et ora gar
¥ =t & 9 gd %) F e ShRras aur SRt IRaw THaTel Bt fidl-aR-did B Fow A1 37 aAl
HeTHT) & Pl FIaTPT SIS SR Ufaal 8| $© TRUN af S TRAT U1 P TP A

YRT # FeT A HF YTUTT Sieil STelt 8T € forg R FHM A TP BT WART IR YR | 8T 4Tl HRd & Hi-
aﬁlﬁgﬁhﬁ?gﬂﬁmﬁﬁﬁm%ﬁﬁWWWWW| WA R BT o= auT fage gr-
= @ Par

fewTerg udd 3R MER-TTEY AR B UR S WRA &t HI11 BT HSR ‘SU-ARTANR, "=’ R W1,
- & 9 g

IUYT TR B UGHR 14 I 7T U $T I« 94130 ¢

UL: YR & PIH-BIH H UR Alfecd BT SR fraa w2

1.3 @ PI$ AL

2. hael HIAAT

3. dhael fagEl &

4. HlAA 3R Tagrar ar a
Correct Answer :-

. iaar AR RgEr gt 3

15) R oA H, fRd §T &1 Fod T A1 BT A BT SFRAT &7 AT1 FAT! HgToid giaR (et ora $ar
ﬁﬁﬁﬁqﬁ%)%m ‘sheras’ aur S IRaR THaTal B fidl-ar-fid B o= A1 37 ST
HEThT # ol faTey gy guR UfeTal & | $9 IR0 3) AT a16 Y JHd U

YRA # 9T V HF YTTE diell Set 61 € foreg R FHM A Ipd T WART IR YR | 81T YTl HRd & H1-
ﬁﬁlﬁhﬁm’fﬁ%ﬁmﬁﬁm F 9 § YR TR BT HSR HRT| U WR $1 g2 qut g @=-
= aP el

fenTerg yda Sk MER-T18Y INR] B UR BXP HRA D! PEIAYI BT HSR ‘SY-ARGINR’, "Tadd’ 3R ‘Sae’,
R-GX & T g

ST TR P UgHR A2 IR Y U= HT Ik Tarsy :
WR: UIRd B HeIi fPas! TR ovd gr 320 a& ugd?

L. §TH | PG a0



2. ooy gdd 3R ORRT @t
3. dhael RATIT gdd
4, I FERT

Correct Answer :-

16) i siafve ¥ sFd T @R,
HHE §1 TaTg il 91 ¥ I8 |
TRERTIAE I IST 9T 981 gt
3 ft sr-3i # sruw g e 9t
WAN P EATIH IR FTW,
T8 7w ? 5 o) e & R Wy

SUTE Ui P UgHR 1Y YR oF T U= $T S qa13¢|
UH: @e-98 U A P A Q| @2

1 i

2.5 @ Py TG

3. faeA

4, gIrardy

Correct Answer :-

17) 3rd Siafvel & 3Fd 3 & WL,
T € TaTg &l 941 T3-S |
RERTGAH I I3 94T g1 gt

3 ft sr-3i # 3w g w el |t
WAN P TEATIH IR FTW,
a8 7w ¢ % St agw & g w

ITed U $I UgH AR YD WF a1 U= BT IW Ja13¢|
U: 3 $T fIaH sg T A2

1. URH

2. 3epTeT

3. @ifda

4. 31d

Correct Answer :-



18) 3d 3ialer ® 3Fd T & TS,
qHEl B TG Sl 947 78 TS|
RERTIAE I ST 9T 981 gt

3 ft sr-3i # sruw g e 9t
WAN P EATIH IR FTW,
a8 ug § b ot agw & fow W

ST U $I Ugh 1 TR WA ardt A BT IR qarsu|
U: 3Ed...... TS UfRT # P19 9T 6P R 82

1§ PIE T

2. AT

3. Tehifth

4. raeh

Correct Answer :-

- 3R F PG A

19) 3Hd 3iaf¥e A Fd I & @S,
T € TaTg il 981 @ T3-S |
RERTGAH I I3 a4T T¢I gt
Y Sr=u—3i H 3 gl el "t
WAGN P TEATPH IR BT,
a8t ug § b ot agw & fog W

ITed U $I UgH AR IS WF ard U= BT IWR Ja13¢|
U aaTg’ ¥ W 1 AR T 82

139

2.9 4

3.7 4

4. 37T |

Correct Answer :-

20) 3d aRer # sAd T E @S,
wHe B Tqag S g7 38 T8-S |
RERTTAE I IS8T 9T 981 gt



3} -3 A 3rue gl gl g
WA P @ ATPH IR BT,
T8 wgw g o o ww & Rg W

Iued U $I USHR AR IS WF a1 U= BT IWR Ja13¢1
WH: \3{ARE Xeg BT TTAQTH Yeg I AT 81 072

1. 9

2. T

3. I

4. AHAUSST

Correct Answer :-

21) 3id afve § Fd 3T & @,
T g} TaaTg N 91 W I8—a3 |
TRERTEAE I 331 4T Fel Jaft,
3} -3 | 3rue gl Tl g
WAG P TH AT HH IR PTIY,
a8 g g o o wgw & g v

IUed U 6l UgHR A IS §IF aTd U= BT IWR qa13¢|
WH: TP | DI TST 82

L 9g

2. ¢adm

3. g1ed

4, dR

Correct Answer :-

22) 3 saRer # edda e @S,
Tue g TETg SN 9¢71 78 98-
TRERTIAE T IST 9T gg1 gt |
Y =3 H 3rue Bl Tel "ot
WAN P EATFH IR FTI,
a8 W § o ot ww & g wv

SUT U F UgHR AR IR WA ard U= $T IR qa13¢|
URH: 9 P Uaigare Wsg i Iq1 71 32



1. adr

2. 3%
3. aldd

4.94

Correct Answer :-

23) 3d JaRe FeAaa e @,
THe € Ta1g Y 991 3¢ Te-aS |
TRERTIAE I IST 9T g8 gt |

3 ft s # sruw g e 9t
WAN P TEATFH IR FTW,
T8 7w ? 5 o ugw & g W)

SWT U F UgHR AR IR WA aTd U= $T IR qa1z¢|
US: 39T, SUTY IS B $El 93T 82

LW

2. 1Y

3. A&7

4, Mg

Correct Answer :-

24) 3d 3falel ¥ 3T ¢a & Ws,
qHEl B TG Wil 947 38 TS |
RERTIAE I ST 9T 981 gt

3 ft sr-3iw # sruw 8 e |t
WAN P EATIH IR FTW,
a8 ugw § b ot agw & fog W

ST U $ UgHR A2 IR TH T Y= $T IR qa13¢|
UL: ¢adl fPad W@ & e @S 82

1. U HJST &b

2. Urfot &

3.F¥8 &

4. e9d &



Correct Answer :-

25) 3 SaRer # sAd T e @S,
Tue g TETg SN 9¢71 78 98—
TRERTIA T IST 9T gg1 gt |

3 ft s # 3ruw g e |
WA P TF AT P IR FTW,
T8 7w ? 5 o vgw & g W)

STd U F UgHR AR IR WA ard U= $T IR qa13¢|
URH: Ffd 3 FaD! TP Tbx ga- & fog w1 ot §, Fifes 2
1. AT FPAvT IR 4 ¥

2. AJST HT g 3MTHT FehRar W AR B

3. AT HT HH & I FET
4. AT HAHATTSD Gof §

Correct Answer :-

o AJST P NI HUHT FEhIRAT W AN &

26) 3d e § eada @,
THef € TaTg ol 981 3¢ ge-aS |
TRERTIAE I IST 9T 9¢1 gt

3 ft s # sruw g e 9t
WA P TEATIH IR FTW,
T8 7w ? 5 o ugw & g wv)

STd U F UgH AR IR WA ard U= $T IR qa13¢|
UR: B3 & AR ‘I B g &2

1. Ueh-g@R & Ty |

2. Th-g@l ¥ o1 |

3. Teh-GEX e 1A 3T

4. Th-g@ & BIH I o 3T

Correct Answer :-



3 d Sfafver & 3Fd 39 € @2,

THE § TaaTg il 991 @ T3-S |
TRERTTAE I 331 4T Fef Jt,
3} -3 H 3ruw gl gl g
WA P EATPH IR PTI,
T8 7w @ 5 o vgw & g w)

ST YR B UgH A TR W ard YA BT IR qarsy|
UR: B3 & JOR, TS B ST 14T A1RT?

1. hael TUHRT

2. el AT

3. had HATS P aTell

4. 3P A

Correct Answer :-

« S T

28) 3 aRer # sAdda g @S,
Tue g TETg SN 9¢71 ¥ 9o—-as |
TRERTIA I IST 9T daf gt

3 ft s # 3t gt Tl |l
WA fF TF AT 5 IR FTW,
T8 7w @ o ol ugw & g W)

SUT U FI Ugdh 1R IR SH T U= HIL.3WY adise |
UH: A% 3t feaas fag sfi=n afge?

1. 31<T T & forw

2.9 & forw

3.@ay & fou

4. 91S & forw
Correct Answer :-

. oS & forw

29) 3d 3falel ¥ 3T ¢d & Ws,
[ Y TaTg il 931 T6 93|
TRERTIAE I IST 9T g8 gt

3 ft sr-3i # sruw g = ! |t
WAN P EATIH IR FTW,
I8 a2 fp & s & ferg @R



SUT U F UgH AR IR WH ard U= $T IR qa13¢|
WR: T &Y 3 § H Tg1 A1u?

1 HE-IR A

2. THATAAT &

3.7 |

4. FIT H

Correct Answer :-

. R W

30) 3Fd 3iaRe & sFd 3T § @S,
THe € Ta1g Y 9971 3¢ ge-aS |
RERTIAE I IST 9T Ig1 gt

3 ft s # 3ruw g e 9t
WAN P TEATFH IR FTW,
T8 7w ? 5 o ugw & g wv)

SWT U F UgHR AIE IR WA ard U= $I 3w Ia13TI
U U Ui & A A S o1 G- S A8t 22
1. GUTRIRET

2. fremferar

3. fAderan

4. 3111 T

Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct optionin the given sentence:

When many people move together, they are said to make a --motion.
1. ani--
2. auto--

3. loco--



4. com--

Correct Answer :-

2) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March

Who is a vagabond?

1. Someone who wanders from place to place offering people jobs

2. Someone who wanders from place to place without a home or a job
3. Someone who wanders from place to place looking for a job

4. Someone who wanders from place to place helping others

Correct Answer :-

« Someone who wanders from place to place without a home or a job

3) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats
Old dust and papers down gray streets
And blows brown leaves with curled-up edges

At frightened sparrows on window ledges



A snowflake falls like an errant feather,
A vagabond draws his cloak together
And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March

What do you think the sparrows are frightened of?
1. The chilly wind

2. The vagabond

3. The leaves

4. The old man

Correct Answer :-
o The leaves

4) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March

Which part of the year do you think it is?
1. Early autumn

2. Late spring

3. Late summer

4. Early winter



Correct Answer :-

« Early winter

5) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again . -By Joseph M. March

In what manner does the old man walk?

1. With difficulty
2. Briskly
3. Angrily
4. Slowly

Correct Answer :-

. With difficulty

6) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also
interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science.
‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in 1727 at the
age of 85.

Which college did Newton graduate from?



1. Harvard
2. Oxford
3. Stanford

4. Trinity

Correct Answer :-

o Trinity

7) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also
interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science.
‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in 1727 at the
age of 85.

Which fine art was Newton interested in?
1. Music

2. Painting

3. Drawing

4. Dance

Correct Answer :-

» Painting

8) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also
interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science.
‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in 1727 at the
age of 85.

How could one find the time of day with the instrument that Newton had invented?



1. By means of sunlight
2. By means of moonlight
3. By means of a pair of arms

4. By means of shadows

Correct Answer :-
» By means of shadows

9) Choose the appropriate pronouns for the given sentence.

When was a young girl, __ mother taught how to read.
1. he, his, him

2. they, their, their

3. she, her, her

4, it, its, its

Correct Answer :-

e she, her, her

10) Fill in the blank with the correct optionfrom those given below:

Always insist on speaking to the in case of any arguments with the staff.
1. managerial

2. managing

3. management

4. managers

Correct Answer :-

e management

11) Fill in the blank with the correct option in the given sentence:

The shown by the newly elected leader was extremely farced.



1. humbled
2. humble
3. humbling

4. humility

Correct Answer :-

e humility

12) Which of the following options best combines the following sentences?
The examination was over. The children were happy.

1. As the children were happy because the examination was over.

2. Happy were the children and the examination was over.

3. The examination was over and the children were happy

4. The examination being over had the children happy.

Correct Answer :-
e The examination was over and the children were happy

13) Choose appropriate articles for the given'sentence:

leader had initiated fund raising campaign for downtrodden.
1. no article required, the, the
2. A, no article required, the

3. The, a, the

4. The, an, no article required

Correct Answer :-
e The, a, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.

Rajendra Chola smites the enemy in the battlefield.

1. The enemy is smitten by Rajendra Chola in the battlefield.



2. Enemy was smite by Rajendra Chola in battlefield.
3. Rajendra chola smited the enemy in battlefield.

4. The battlefield was smitten by Rajendra Chola.

Correct Answer :-

« The enemy is smitten by Rajendra Chola in the battlefield.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

The fruit of one's toil helps others to continue with the mission.
1. achievement

2. hard work

3. sufferings

4. entertainment

Correct Answer :-

e hard work

16) Choose the appropriate tenses to fill inthe blanks in the givenisentence:

My father home a few minutes ago and

1. has left, isn't returned
2. had left, hasn't return
3. left, hasn't returned

4. leaves, isn't returning

Correct Answer :-

« left, hasn't returned

17) Choose the appropriate antonym for the highlighted word in the given sentence.

You should not be so stern in your approach.



1. strict
2. hard lined
3. flexible

4, kind

Correct Answer :-
¢ flexible

18) Choose the appropriate conjunction for the given sentence:

I am unwell, I can’t attend college today.
1. because

2. hence

3.0

4. since

Correct Answer :-

19) Choose the appropriate prepositions for the given sentence:

He showed a marked distaste politics___ his tenure.
1. to, with

2. towards, onto

3. in, around

4. for, during

Correct Answer :-

« for, during

20) Choose an appropriate modal for the given sentence:



The lady standing next to me in the queue asked, ™ I use your phone please?”
1. May
2. Will
3. Will

4, Can

Correct Answer :-

21) Choose the option that best explains the highlighted expression:

I've been beating my brains out trying to think of a way of getting the money to her in time.
1. trying to reach a solution

2. hitting my head hard

3. running from pillar to post

4. eagerly waiting

Correct Answer :-

e trying to reach a solution

22) Choose the option that best transforms the sentence into its Indirect form:

‘They should put traffic lights here; otherwise there’ll be more accidents,’ she said.

1. She remarked that by putting traffic lights, there would not be more accidents.

2. She said they should put traffic lights there; otherwise there would be more accidents.

3. She said that they should be putting traffic lights here; otherwise there can be more accidents.

4. She was saying us to put traffic lights here; otherwise there’ll be more accidents.

Correct Answer :-

¢ She said they should put traffic lights there; otherwise there would be more accidents.

23) Choose the option that substitutes the given phrase appropriately.

Very unhappy, bad tempered and silent



1. Sad
2. Dull
3. Morose

4. Gloomy

Correct Answer :-
* Morose

24) Read the sentence carefully and choose the option that has an error in it:

Although he had scaled many of the world's tallest mountains, he was still looking for more taller
peaks to climb.

1. Although he had scaled
2. more taller peaks to climb.
3. many of the world's tallest mountains

4. he was still looking for

Correct Answer :-
» more taller peaks to climb.

25) Read the sentence carefully and choose the option that has an error in it:

No other quality is more important to acquire for a scientist as to observe carefully.
1. No other quality

2. for a scientist

3. is more important to acquire

4. as to observe carefully.

Correct Answer :-

e asto observe carefully.

26) Change the given statement to indirect speech.

"I can’t come to the party on Friday,” she said.



1. She said I couldn’t come to the party on Friday.
2. She said she can’t come to the party on Friday.
3. She said that she can’t come to the party on Friday

4. She said that she couldn’t come to the party on Friday.

Correct Answer :-

 She said that she couldn’t come to the party on Friday.

27) Fillin the blank with the most appropriate preposition in the given sentence.
Where can we go the movie is over?

1. after

2. before

3. below

4, under

Correct Answer :-

o after

28) Fill in the blank with the correct option in the given sentence:

Water consum-- has been particularly high this summer.

1. --ption
2. --ers
3. --ed
4. --ables

Correct Answer :-

29) Choose the right tag:

As soon as they saw the boss they panicked and started running in all directions,
?

1.isn't it



2. weren't they
3. didn't they

4. do they

Correct Answer :-

o didn't they

30)
Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also
interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science.
‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in 1727 at the
age of 85.

When was Sir Isaac Newton born?
1. 1642
2. 1640
3. 1650

4. 1648

Correct Answer :-

Topic:- Social Science (SSC)

1) What do you mean by ‘Eurytherm’ organisms? / “q?;R-IT!ﬁ” (@ﬂfl) Sital I 3Ty 4T W?f &2

1. It does not need oxygen to survive. / 38 SiTdd (@l & oIt HTerdIoa T ATaRIBAT Tl
eIl

2. It is able to tolerate a wide range of altitude. / I& £ EII% fr T T?N-Qd "bi{sloll G g P

H TeTH BT '

3. It is able to tolerate a wide range of PH value. / I& PH HTA T foeqa AT Bl TEd P A
eI BT §




4. Tt is able to tolerate a wide range of ambient temperatures. / Ig TRAM ATTATAT HT Th ﬁR-_ch
HGAT P Teed I A T&TH Bl &l

Correct Answer :-

« Itis able to tolerate a wide range of ambient temperatures. / J& URAM ATTHATAT T T faegd
HES P TeeT P A TETH axll ¢

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.
2, Indifference to the authority of the Vedas.

3. Denial of efficacy of rituals.

fFrafafEa & 9 o ais o 3R o o g1 & fore |mm=a ar?
1. TURIT 3R HRT B oA HHAT F T2
2. 351 & ARIBR F vl IR
3,38 @ YUTGHTRAT A STPR
1. 1only / hdel 1
2.1and2 / 1 Ud 2

3.2only / &hdel 2

4.1,2and3 / 1,2 T©d 3

Correct Answer :-
« 1,2and3 / 1,2 TT 3

3) The position if the sun, the earth, and the moon are in straight line is called: / G, gt 37 g
P Wl a1 A 3 W R 7 w1 war 8:

1. Cliff / fFers

2. Conjunction / gﬁ

3. Seiche / STelalga )ASU(

4, Syzygy/gﬁﬁ'ﬂﬁ ﬁg )rsTsta(

Correct Answer :-

. Syzygy / Ziafagid fag RT3 (



4) The celebrated monarch known by the epithet "Devanamapiya Piyadaasi” was: J9RIE |ure T
IUTf g U firre =it e & o1 9T

1. Kanishka / eIt

2. Ashoka / 372lTeh

3. Chandragupta Vikramaditya / Iga[@ TashaTice
4. Akbar / 3ThdY

Correct Answer :-

« Ashoka / 310

5) Kanishka’s rule extended over Afghanistan and part of north India and he had
established two capitals, One was Purushapura. Which was the other? / &fas® &1

A FHINfAEdler AR 3R 6T & ¥ W RAEga a1 3R 389 &) vewrfad
Tyt #1 oft, S & v off gowqnl g@dt Fia @ ofr?

1. Taxila / cI&TTrel
2. Mathura / EFP:RT

3. Pataliputra / UTCellgT

4. Sakala / Ghlell

Correct Answer :-

o Mathura / EFF%RT

6) Under which dynasty, earliest inscriptional information on land grants is provided?

| e TS F A, R Iefee W FEw wuH R Seert yee A St 8
1. The Mauryas / A

2. The Satavahanas / Hlddlged

3. The Sakas / R[h

4. The Guptas / 9d

Correct Answer :-

o The Satavahanas / Hliddlgd



7) The Minimum Support Price was introduced in India in the year .

gAdH FHET Hed AR A a9 & der R T A
1. 1964
2. 1984
3.1974
4. 1954

Correct Answer :-

« 1964

8) What is a favourable balance of trade? / SATIR FT UF ekl Hclelel AT 87
1. Exports equals imports / T 3 & WaR €

2. Exports must be greater than imports / fFata 3maa @ 31f® @9 afew

3. Increase quotas / G ARG 1Y

4. Imports must be greater than exports / a7 &hr geledl H JIT G g aifew

Correct Answer :-

« Exports must be greater than imports / faaTg g & 38 g9 afke

9) aimed at providing credit or loan and other facilities to the small
and marginal farmers, agricultural labourers, artisans and small entrepreneurs in

rural areas. / & 3gged AT &t # B AR dwnia e, s Aeqy,
FARt 3 B SeEEt Y FHOT A FHOT AN T GRUT Ta F B

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgTeHT it gt arefiur JAsHIR
RS AT (F=m)

2. Prime Minister Rural Development Fellows Scheme / TYTTHAT ATHIOT fARTE thell JTSTAl
3. The Rural area Regulatory Board / ATHIOT &3 Aamde s
4. The Regional Rural Banks / &3IT 0T S

Correct Answer :-

« The Regional Rural Banks / 831 TTHIOT g



What type of stream pattern develops on a dome type area? / & YR &T 39ag Yoot :gaa
& YUFR F a7 § Fefa aar 2

1. Radial / 30 (If3Ten)

2. Parallel / GATATAX

3. Dendritic / GHATP b (F&TTHPR)

4. Trellis / ST AT

Correct Answer :-

« Radial / 30T (f3TeT)

11) In which river valley hominid fossil has been discovered in India? / 7R # e &1 gt
# fAfas Shara fr @ fr 71§ &2

1. None of these / 38 & PIS T
2. Ganges / I
3. Indus / &Y

4, Narmada / FI?fl?.‘\T

Correct Answer :-

o Narmada / FI?ﬁ'E\‘T

12) Who reviews the distribution of revenues between the State and Local Governments on the
one hand and between rural and urban Local Governments on the other? / T&F 3 =T 3R
T TWHERE & @i 1R @l 3R afior 3R aedl vy @R F i e §
faavor & weftam i FIar @2

1. District Finance Commission / TotelT fa=r 3mater
2. Union Finance Commission / hara faa 3marer
3. State Finance Commission / T o 3T

4. Zilla Parishad / fSter aRug

Correct Answer :-

« State Finance Commission / T Tad 3T=A9T



13) Who is the head of the Indian Republic? / TR I0TdT & Rrcc) Fia &2
1. President / ITgUfa

2. Prime Minister / TITATAT

3. Parliament / T&G

4. Judiciary / =ITIUTTeIaRT

Correct Answer :-

« President / TgUfd

14) Who among the following are not the women Presidents of Indian National Congress? /

fmfaf@a & @ sl sl wda FR/a @ Afger sreger a8 @
1. Kamala Devi Chattopadhyaya / @daTelical ﬂE\E’I’CIT‘EII'I?I

2. Aruna Asaf Ali / 31%UT 3TH% 3l

3. Annie Besant / U<l J¥C

4. Sarojini Naidu / &Sl GIREY

Correct Answer :-

« Kamala Devi Chattopadhyaya / &hdclCdl ﬂwCITQ«'ZIW

15) Who is the author of “Deschooling Society”? / "3t Ejﬁ'ﬂ A" F dE@H P 82
1. John Locke / SfieT &lidh

2. Jacques Rousseau / Storg w4

3. Jean Piaget / S OIS

4. Ivan Illich / gara sfera

Correct Answer :-

o IvanIllich / SdId $i§|?«l

16) Who said that, “Non-alignment is more or less a residue of historical circumstances, we
cannot align ourselves with the West, with its colonialism, and there is no question of course of

joining the Soviet bloc”. / et Fgr ¥, “arefavdaran, wemsmr Maerfdw aRfFufoaat #



IHAF a1 FH IHFAT T, &7 @I F UG arar 9RTaH F W A5 FE ", 3R
R e # afAd @ F1 FE Faw & T8 A7

1. Nehru / &%
2. Krishna Menon / 80T Helel

3. Tito / feer
4. Nkrumah / <R ATE

Correct Answer :-

« Krishna Menon / 0T A

17) Who is the overall in charge of the efficient and fair conduct of elections in the concerned
constituency? / Haftrar fataer & & gamal & Ferar AR frsger Fareer & woer wormrd
T &2

1. Polling officers / FAAGI 3TUPRY

2. Returning Officer / f@ama (Refeier) 31flerr
3. Presiding officers / Giorla 3ifaarY

4. Visiting / 31T

Correct Answer :-

« Returning Officer / f@aT=a (Refam) 31fsry

18) Who was known as “Hazar Dinari”? / "g9IR f@al" & ™ & &9 It Jd A2
1. Balban / defdel

2. Razia / I/Sm

3. Mallik Kafur / #’fereh &g

4. ltutmish / SeTdr

Correct Answer :-

« Mallik Kafur / #feleh PP

19) Finding the relation between “altitude” and “temperature” with the help of given examples

happens in which approach? / T T 3emEI0 Y #Aeg A "FurE" 3R "aOHEEA" & diw



A FT 9dT I9MT=IT 9 3YTH H gar & -
1. Concentric / Thigd

2. Chronological / EFR‘*IT"@’EB@RF

3. Inductive / JTITHATCHD

4. Deductive / TA9ATCHS

Correct Answer :-

o Inductive / JTITHAICHD

20) In a Parliamentary form of executive it is essential that the Prime Minister has the support
of the majority in ./Wmﬁunﬁwmw%%maﬁagﬂam
YT # 8

1. Rajya Sabha / TaqdHT
2. Parliament / ¢
3. Lok Sabha / SIThgHT

4. Vidhan Sabha / [am=argHT

Correct Answer :-

« Lok Sabha / SlichaHT

21) Receiving, responding, valuing, organizing and characterizing are the levels of which of the
following domain? / WTcd HIAT, YTATHAT ST, ATTT HIT, SHATRYT HIAT 3R qoieT HTaT
sH AT & T 8-

1. Affective / HTdIcHD

2. Revised Taxonomy / aLmfaa Taraaie
3. Psychomotor / HA: UXeh

4. Cognitive / TATATCHD

Correct Answer :-

o Affective / HTdIcHD



During the Mughal rule which of the following traders came to India first? / #3Tel ATHT *
ghrer fmafaf@a & ¥ i a1 Il vga oRa 3mAT A

1. English / 373ty
2. Danish / 331

3. Dutch /39

4. Portuguese / g?‘ﬁ"l'lﬁ’f

Correct Answer :-

« Portuguese / g?-i'ﬂ'l?ﬁ

23) is a system of government in which the power is divided between a central
authority and various constituent units of the country. / TAIHR A TH gomelt §

forgs gar &) tF FET NREor 3R 3o Y RffeT gew st & & RFafoa
ST g1

1. Decentralization / ﬁaﬁﬁWUT
2. Centralization / aTsﬁWUT
3. Federalism / &G

4. Democracy / STl =

Correct Answer :-
« Federalism / §gdic

24) is a process that involves the assembling, storage, transportation, packaging
and distribution of different agricultural commodities across the country. / uF gihar &

et o s & RffeT FR avqgat & FATe, ssror, wRaga, dfeer ik Ravor afae
ad §l

1. Rural development / ATHOT Tdepray

2. Rural marketing / JTHIOT LG

3. Agricultural marketing / ?51:@ ot

4. Agricultural networking / T Scafda

Correct Answer :-

« Agricultural marketing / Tﬁ LG



25) The Planning Commission was set up in ./ TYSTSIT 3TART Y FATIAT 7
g oA

1. 1960
2.1940
3.1950
4. 1945

Correct Answer :-

« 1950

26) The evidence of pit dwellings have been discovered from which of the following Ancient
Indian sites? / FIfaf@d # & e yrdier T Toall @ rdiar@l & gamor #1 @ §§
e?

1. Lothal / oiteref

2. Burzahom / W

3. Ropar / fl'qg

4. Kalibangan / ShTeliear

Correct Answer :-

27) The most prominent challenge faced by a social science teacher is: / HTHITS® AT
e & argE aad ya@ et g @

1. Inadequacy of text book and handbooks / UTed G&dh 3R W&ﬁ & 3qATEAT
2. Inadequacy of in-service training programs / JdTdhTellc UTAETOT PG I FTATIAT

3. Lack of proper evaluation tools and techniques / 3fad d-jyaichd 30T 3R dehellhl &l
AT

4. Insufficient time to attain long-term objectives / SreipTTerd 32T 1 wifd & forw 3muatg
AT

Correct Answer :-



« Insufficient time to attain long-term objectives / GIeiehlToldd 3eRT T UTid & forw 3mgatd

28) The most suitable approach to promote interactive environment in social science class is: /
AT T fr FaT A WER gaereAs aRkaw # geEr o F AT g9 39y
tioemor gl

1. Frequent testing / faca adigror

2. Showing documentation / GEATdST GRITAT

3. Lecture and explanation / <Jr&dled 3R TUIHIoT
4. Cooperative learning / HE&PRY TTAIH

Correct Answer :-

« Cooperative learning / TEDRT TTAIH

29) The method of inquiry-based learning which gives students time and support, they can pose
original question and investigate through their own methods is known as: / ST-3menRe

e A vgufa St oMl # G797 3R FHAT doeT FC §, TEA T HqoT G F AT
FATTHT TG4 & alldl & ATLTH § AT I 8@ Qe F T & A1 AT &

1. Structured inquiry / TG ST

2. Conformation inquiry / Ta&qoT ST
3. Guided inquiry / ERa s

4. Open inquiry / lg?ﬁ Sdc

Correct Answer :-

« Open inquiry / tgaﬁ Sdc

30) The Village and Small Scale Industries-Committee are also known as L/ ATH
3R g seanr-afafy w & 0 F ot Fre FIer B

1. Desai Committee / a'\’:l'lé afafa
2. Krishnan Committee / 80T GfATA
3. Karve Committee / &1d TfAfa

4. Rao Committee / TT JfATT



Correct Answer :-

« Karve Committee / pTd GfAfY

31) The method that does not help to develop critical thinking skills among the students is: / I§
fafr St oEl & T AgaEr W@ Fha RFERT F@ § Agg ad w7 E el

1. Rote learning / o€y fafq 3rfQera

2. Project based learning / RIS 3T faTH
3. Collaborative learning / H?-'Zﬂ?TC[U‘f IBpr)

4. Self-regulated learning / Fg-fafaafda iAot

Correct Answer :-

« Rote learning / ®oxYT AT i

32) The demerit of problem solving method is: / §AFAT fAarRor fafr r ST gl
1. It is purely individualistic in nature. / Ig Clzﬁﬁ E2 | ﬁ?j&" g § gRhdarer g

2. It brings affective changes. / Ig TPRIcHD TRAAA oflel &l

3. It does not help in easy assimilation of knowledge. / & HATd. bl ATHA A HcHATT A H
Heg, el P ¢

4. Tt does not develop power for critical thinking. / & 6T Ridel & fow &7aAar fawfad =&t
CRG IR

Correct Answer :-

« Itis purely individualistic in nature. / I& Upfd # faYg ® & cFfhardy |

33) The Government can present demands in the middle of the financial year if it
feels that more money is required than estimated in the annual budget. / §{®R T af &
weT & AT (3A08) geqd T wHdr ¢ I 3@ orar @ o soe &
FIAA ¥ HAF oeT T AaRTFAT ¢

1. Complementary / Ih
2. Need — based / JTAIRAT-3TATRT

3. Mid — term / ACITATY



4. Supplementary demands / 37e]qIch
Correct Answer :-

« Supplementary demands / 3JqIh

34) Which one of the following is not the nature of social science? / fAF=ifaf@a & @ Fia
AT faamer @ gfa dt 82

1. Study of man’s development through ages / ?Iﬂ}f a HJSI & e &1 egaa
2. Study of human relationship / HIAd TIUT BT CIIA

3. Unrealistic course of study / €I &1 TS UrogdshH

4. A unique combination of various subjects / Tl faWAT T Teh 3o HISTA

Correct Answer :-

« Unrealistic course of study / 31¢TT BT FIATIATET UTSThA

35) Which one of the following is measured through CCE? / faFafei@d # A e Al ®
ATEIH | AT ST 82

1. Physical and motor development of studeritsionlys7: ehael SR ARIRD 3N A GH-aadt
o |

2. Scholastic and co-scholastic achievement / dad Af&H 3R W-Qﬁaﬂ? 3T

3. Co-curricular achievement only / hdel Hg-UTcThal SUIeH |
4. Gradients of scholastic achievement only / dhdel AféTh 3T & SAR-de |

Correct Answer :-

« Scholastic and co-scholastic achievement / hael AT&R 3T ag-‘e“rfﬁzs 3T

36) Which schedule of the Constitution prescribes a list of 18 functions to be performed by the
urban local bodies? / HfatTeT #r fFa g # el Tyrly Awat @Err fFr a@ a@
18 At A g fuifRa i a5 82

1. 12th/ 124}
2. 9th / ofy

3. 10t / 109t



4,11t 7 119%

Correct Answer :-

o 12t/ 124}

37) Which is the most suitable philosophical approach that is capable of inculcating absolute
values among students through the teaching of social studies? / a8 HleT AT FIA 39gFd
erifas Tfeaior @ o @i sreaaer & Retor & Ateas @ o & i et geat
! RAFfa &6 7 garw B2

1. Realistic approach / JUrdarer gi¥eroT
2. Idealistic approach / 3TTERTATGI IO
3. Naturalistic approach / Cl?fﬁiﬂa HECI)
4. Pragmatic approach / graglie gfdIoT

Correct Answer :-

« Idealistic approach / 3Mearcr T80T

38) Which is the Lightest layer of the earth? / J&dt & Ta® geahl 9 i H 32
1. Lower Mantle / [&=IelT (UTaR )#Hed
2. Upper Mantle / 031 (UTAR ) Hedl

3. Crust/ 8] UUET (Uce)
4. Core/ IS

Correct Answer :-

« Crust/ 8 UU<r (3Ucd)

39) Which of the following methods is capable of enhancing psycho-motor abilities of students?
| Fafaf@a & @ i O R oEl f ATRF T7dEHT F Te F G897 ¢

1. Simulated method / Ef»ﬁl'o‘:[ fafey
2. Work experience method / Gap) AT fafer
3. Lecture method / <& fafQy

4. Demonstration method / U&= fafdy



Correct Answer :-

« Work experience method / PR AT fafer

40) Which of the following is not the educational objective in the teaching of social studies? /

@ # ¥ sla o svaas & Reor 7 MAF 3587 78

1. Preservation of democracy as a value system / H{ed UUTTell @ & H olldbdd I TI&0T

2. Creating and maintaining democratic citizenship / ol AWTRBAT Bl AT e 3R
30 HEAHA IGAT

3. Conquering the territorial jurisdiction of neighboring countries / TaIETI &lf & PR &F W
fasra gra &

4. Peaceful co-existence of people in this earth / & gl W ATt T ?ﬁﬁ{lﬁ gg-31dca

Correct Answer :-

. Conquering the territorial jurisdiction of neighboring countries / USIET ¢2lf & 3FfABR &7 W
[CERREECTC]

41) Which of the following type of Agriculture is also known as Jhoom cultivation in India? /

farafaf@a # ¥ fFw yor A1 FR F14RT A FA Al & a9 F off S S @2
1. Primitive substance agriculture / 3G UeI2l PN,

2. Extensive substance agriculture / S0 &Iy Hfy

3. Extensive commercial grain cultivation / ITqeh dTfOIfedd 3Tal &I Wl

4. Mixed farming / fH&T @t

Correct Answer :-

« Primitive substance agriculture / 3TTf¢ Terey Galy

42) Which of the following dynasty was ruling in India, when Alexander invaded India? /
farfaf@a & @ sl a1 Toar R 7 AT F W@ AT, T AdHeI F HRA W IAHAT
fam?

1. Nanda dynasty / ¢ a9l
2. Shunga dynasty / QIUT aer

3. Gupta dynasty / g asr



4, Mauryan dynasty / AT aer

Correct Answer :-

. Nanda dynasty / i a9l

43) Which is recognised as one of the first environmental movements in the country? / fF& &er

# g 9o el & ¥ TF F ¥ H AT Iod 82
1. Chipko Movement / TIUe! 3Tarele
2. Kisan Movement / fop@Te 3MTeTela

3. Lok Satta Movement / Seh&adT 3TETel

4. Narmada Bachao Aandolan / c-ld-(iql T3 3Tegiold

Correct Answer :-

« Chipko Movement / TIUe! 3fgrele

44) Which among the following is not a scoring tool to evaluate the quality of students? / GIEN]

$Y IOTTAT FT Hedlda I & fav Aeafaf@a & F Sl a1 TN 3qFI0T 76 82
1. Rubrics / %fsleh

2. Observation / 3Tdelldhe

3. Checklist / ®ehforee

4. Rating scale / HedTdhed UATAT

Correct Answer :-

« Observation / 3Tdellchel

45) Which among the following is one of the first commercial banks established in India? /

farafaf@a & @ sla @1 arRa & Tufe v avfsas d& & @ = 2
1. State Bank of India / AR ¥ o

2. Bank of Hindustan / &6 3iT% Wﬂ?

3. Bank of India / & 3T® sf3ar

4. Central Bank of India / @=col d& 3HTH sf3ar



Correct Answer :-

« Bank of Hindustan / ¥ 3{T% i%o—gFHIEI

46) Which one is not a characteristic of summative evaluation? / @& # ¥ ST MTHAS
Hediwa & v fadwar 7dt 82

1. It is done on a continuum / 3'\’# Uh JIdcT & YR U fopam Srar %I
2. Knowledge of results is not possible / gRUTAT BT AT THT H@f %’I

3. It is used for promotion / $T®T IUANT Had YR & forT fpar Srar B
4. It is having a judgmental attitude / T8 T 3MTAHTHS 34T T B

Correct Answer :-

« Knowledge of results is not possible / URUTAT BT AT IHT c_-l'?f %I

47) How many Tirthankaras are in Jainism? / SteT 43 & fFaa fidsy 92
1.24

2.4

3.34

4.14

Correct Answer :-

. 24
48) Who were Manu, Narada and Brihaspati? / Hﬂ',ﬂﬂ?\' iR Q_E'F‘Iﬁ' FiT A2
1. Mathematicians of ancient India. / Ui AR & IOIA<|
2. Jain scholars. / i fagr=|
3. Gods of Vedic religion. / dfge g3 & gl
4. Law givers of ancient India / UTdlid HRd & qMHBR|

Correct Answer :-

« Law givers of ancient India / U HARA & ATHPR|



49) Deliberate reduction in the exchange value of a country’s monetary unit is termed as

. | U 3 P} Wi 318 & faf v e § Segger o it w3t @) Pl SIrdl
gl

1. Depreciation / Hedald

2. Revaluation / W’I’cﬁ[

3. Re-evaluation / Gel:- HedTchel
4. Devaluation / 3dd{edel

Correct Answer :-

« Devaluation / 3ddedel

50) National Rural Health Mission in India was launched on i Wﬁ?@'ﬂﬂ'ﬁﬂm
W@ = ot H 3= o T ATl

1. April 2010 / 39T, 2010
2. April 2008 / 30id, 2008
3. April 2006 / 310d, 2006

4. April 2005 / 3f8id, 2005

Correct Answer :-

« April 2005 / 3f%d, 2005

51) Which economic system shows both the characteristic features of capitalist and socialist

system? / ®I I 3fde yomelt geftardt Sk aRTaTd yomed o1 g1 fafkme faivansi «f guifdt 32
1. Planned economic system / faifaia 3 goTel

2. Command economic system / AT s yomeh

3. Market economic system / dTIIX 3fdw gomelr

4. Mixed economic system / [f8d 3T goTel

Correct Answer :-

« Mixed economic system / [f3d 37 goTelr



Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi (Chirag

of Delhi)’? / foreclt sxaear & fFw wfgy g ¥ A “RRer-vigad (Reeh w1 Rrmny
& A ¥ ST ST 912

1. Abu Ahmad Chisti / 3¢ 37edg Fad

2. Shaikh Nasiruddin Mahmud / U@ LT FASHG
3. Qutbuddin Bakhtiyar Kaki / Wﬁ IIEATR prehT
4. Nizamuddin Auliya / fASaEla 3itferan

Correct Answer :-

« Shaikh Nasiruddin Mahmud / @ FHTET FASHG

53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / IL3:)
AF o AW I AE A e TaHT A A et & Ty=aRa fmanr

1. Balban / delde
2. Muhammad Bin Tuglaq / HgFAC e JaTelh

3. Giyasuddin Tughlaq / TRIGE el
4. Firoz Shah Tughlaq / TRST Q& JaTels

Correct Answer :-

« Firoz Shah Tughlaq / TRIST Qe JdTelh

54) Kavi Vatsal was a title assumed by which Satavahana king? / “&fd acda” T& ofi¥e+ frd
Hldarga ST G@RT Hfedd 412

1. Yajna sri satkarni / I=T #T Tcaholi

2. Vasisthaputra Pulumavi / Elmg?f gﬂ?ﬁﬁ
3. Hala / gTell

4. Gautamiputra Satkani / Tﬁﬂ'cmﬂ?f TR

Correct Answer :-

o Hala / ®Idl



International Network of Bamboo & Rattan (INBAR) is located at? / /¥ 3X ad &1 31311‘@11'
Acad AMETANTIR) Fg1 W Fua 2

1. Colombo / Srerdl
2. Guwahati / W
3. Beijing / SifSioT

4. Dhaka / GTehl
Correct Answer :-

. Beijing / STaT

56) Which of the following strait separates USA & Russia? / @&faf@a & & =l @t
Srera e 3RS AR T 3 w2

1. Bering Strait / S9T ST
2. Semiostrovskiy Reid / Q#13iEceshr {8
3. Fram Strait / STl STola 1l

4. M’Clure Strait / TH e ST

Correct Answer :-

« Bering Strait / ST STerater

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect on
the environment by the indiscriminate use of the pesticides. Who is the author of this book? /

‘Argele Y, 1962 H YIRS T Agcaqol [Fds ¢ FH HISATAFT F UYL YA
¥ gITEROT 9T USA g1 Widwe W6 F IR A fA@r g1 39 qFas F 9w wia @2

1. Annie Dillard / Uo7 T3S

2. Virginia Arthur / gSii{aiar 3T R
3. Kathryn Miles / h2R1d #ASeT

4. Rachel Carson / Tl AT

Correct Answer :-

« Rachel Carson / Tl 1A



58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? /
frafaf@a & & fFe T F oRa aeenRr AN s T

1. West Bengal / OT3I3T 91Tl

2. Tripura / iilgql

3. Meghalaya / H€Teld
4. Nagaland / <ITdTI SES

Correct Answer :-

 Tripura/ ﬁ'g?T

59) Anemometer is used to measure which of the following. / ffaf@a & @ & A &
fore wliAAeX @1 39T e arar @

1. Wind Velocity / gae daT
2. Wind Direction / Udel &1 f&Qm
3. Humidity / 3T&aT

4. Air Pressure / arg crd

Correct Answer :-

« Wind Velocity / Gae daT

60) Falkland Island is a disputed territory between? / BIlhdS v fFes @ v fRafea
a7 g2

1. West Indies and Spain / d¥cgaial 3R TWA
2. Uruguay and France / 3%9d 3R %I

3. Chile and Ecuador / RIell 31K SFATSIR

4. Argentina and UK / 31ofélar 3R b

Correct Answer :-

« Argentina and UK / 3Si&laT 3R g



